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1. 'H NMR (400 MHz) and **C NMR (100 MHz) spectra of compounds
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OH

2. 'H NMR monitoring of reactions between 4a and p-QMs (2e, 2h, and 2j)
O t-Bu

(o]
t-Bu t-Bu t-Bu
‘ HFIP(cat)
* I =
N DCM, rt, 48h
v U
Br Br
4a 2e

ratio of starting material 2e and product= 49:51
(According to "H NMR spectra)
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ratio of starting material 2h and product= 66:34
(According to "H NMR spectra)
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t-Bu t-Bu t-Bu
‘ HFIP(cat)
* |
N DCM, rt, 48h
T
MeO'

4a 2j

Ratio of starting material 2j and product= 51:49
(According to "H NMR spectra)
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